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                                 May Test of Applied Maths 

                                       Class – XI (2024-25)                           Set - A 

                                                                                                                                      

Time : 1 hour                                                                                                                   M.M. - 30                                                                                                                   

         Instructions : 

1.  All questions are compulsory. 

2. This question paper has 3 Sections. Section A has 12 questions of 1 mark each. 

Section B has 6 Questions of 2 marks each. Section C has 2 questions of 3 marks 

each.  

Section - A 

Q1 Which of the following binary number is equivalent to decimal number 150? 

a) (10010110)2    c) (10001010)2  

b) (100000)2                 d) (100001)2  

Q2 If 𝑙𝑜𝑔𝑥 4  = 
1

4
  then value of x is  

a) 4  b) 36  c) 64  d) 256 

Q3 (256)0.16  x  (256)0.09  is equal to 

a) 4  b) 16  c) 32  d) 64 

Q4 If A = { 4, 5, 8, 12} and B = { 5, 6, 7, 8, 9} then B – A is  

a) {5}              b) { 6, 7, 9}   c) { 5,8}  d) { 4, 12} 

Q5 If P = { a, b, c, d} and Q =  {8, 9, 1}  then number of subsets  of set A  are 

a) 12  b) 7  c) 24    d) 212 

Q6 The value of  27
−2

3     ÷    16
1

4  is 

a) 
1

50
  b)  

1

18
  c) 

1

5
  d) 

36

50
 

Q7 The value of 𝑙𝑜𝑔3√2324   is  

a) 8  b) 6  c) 4  d) 2 

Q8 Among these four numbers : (111)2 ,  (1101)2 , (11101)2 , (10010)2 which one is 

greatest. 

a) (111)2  b) (1101)2     c) (11101)2  d) (10010)2  

Q9  The characteristics of the log 0.0000678 is  

a) 4  b) -4  c) 5  d) -5 
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Q10 Among these numbers tell which one is smallest: 

         3
1

3  ,           5
1

5  ,           2
1

3  ,            3
1

5   

a) 3
1

3     b) 5
1

5  c) 2
1

3       d) 3
1

5   

Q11 If 
32𝑥−8

225
  = 

53

5𝑥  , then the value of x is 

a) 1  b) 2  c) 5  d) 7 

Q12 The value of 
log 8−log 2

log 32
  is 

a) 
1

5
  b) 

1

4
  c) 

2

5
  d) 

1

3
 

Section – B 

Q 13 Convert 59.36 into its binary form. 

Q14 Given log 3 = 0.4771, find the number of digits in 362 

Q15 Prove that 𝑥log 𝑦−log 𝑧. 𝑦log 𝑧−log 𝑥. 𝑧log 𝑥−log 𝑦 = 1 

Q16 Simplify :    
 𝟓.𝟐𝟓𝒏+𝟏   −    𝟐𝟓.𝟓𝟐𝒏

 𝟓.𝟓𝟐𝒏+𝟑   −     𝟐𝟓𝒏+𝟏 

Q17 Solve the following equations: 

         2𝑥  +  3𝑦 = 7          and                    2𝑥+2 -  3𝑦−1 = 15 

Q18  If U = { 5, 6, 7, 8, 9, 10, 11, 12},   A = { 7, 8, 9, 10} and B = {5,8, 9, 10,11, 12}. 

         Verify that ( 𝐴 ∩ 𝐵)′ = 𝐴 ′  ∪   𝐵 ′ 

Section – C 

Q19  Find n , if     
𝑥𝑛  +  𝑦𝑛

𝑥𝑛−1  −   𝑦𝑛−1    =   √𝑥𝑦       , x ≠y                                        

Q20 In a survey of 25 students, it was found that 15 had taken Mathematics, 12 had taken 

Physics and 11 had taken Chemistry, 5 had taken Mathematics and Chemistry, 9 had taken 

Mathematics and Physics, 4 had taken Physics and Chemistry and 3 had taken all three 

subjects. Find: 

(i) How many students had taken Chemistry only? 

(ii) How many students had taken Physics and Chemistry but not Mathematics? 

(iii) How many students had taken only one of the subjects? 
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                                May Test of Applied Maths 

                                       Class – XI (2024-25)                           Set - B 

                                                                                                                                      

Time : 1 hour                                                                                                                   M.M. - 30                                                                                                                   

         Instructions : 

1.  All questions are compulsory. 

2. This question paper has 3 Sections. Section A has 12 questions of 1 mark each. 

Section B has 6 Questions of 2 marks each. Section C has 2 questions of 3 marks 

each.  

Q1 The characteristics of the log 0.0008889 is  

a) 4  b) -4  c) 5  d) -5   

Q2 Among these numbers tell which one is greatest: 

         3
1

3  ,           5
1

5  ,           2
1

3  ,            3
1

5   

a) 3
1

3     b) 5
1

5  c) 2
1

3       d) 3
1

5             

Q3 If 𝑙𝑜𝑔𝑥 3  = 
1

3
  then value of x is  

a) 4  b) 36  c) 27  d) 25 

Q4 (625)0.16  x  (625)0.09  is equal to 

a) 4  b) 5  c) 6  d) 625 

Q5 The value of 
log 9−log 3

𝑙𝑜𝑔27
  is 

a) 
1

5
  b) 

1

4
  c) 

2

5
  d) 

1

3
 

Q6 If A = { 4, 5, 8, 12} and B = { 5, 6, 7, 8, 9} then A – B is  

a) {5}              b) { 6, 7, 9}   c) { 5,8}  d) { 4, 12} 

Q7 If P = { a, b, c, d, e, f, g} and Q =  {8, 1}  then number of subsets  of set A  are 

a) 12  b) 9  c) 214    d) 212 

Q8 The value of  27
−2

3     +    16
1

4  is 

a) 
1

50
  b)  

1

18
  c) 

19

9
  d) 

36

50
 

Q9 If 
32𝑥−8

225
  = 

53

5𝑥  , then the value of x is 

a) 1  b) 2  c) 5  d) 7 
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Q10 The value of 𝑙𝑜𝑔3√2324   is  

a) 8  b) 6  c) 4  d) 2 

Q11 Among these four numbers : (111)2 ,  (1101)2 , (11101)2 , (10010)2 which one is 

greatest. 

a) (111)2  b) (1101)2     c) (11101)2  d) (10010)2  

Q12 Which of the following binary number is equivalent to decimal number 33? 

a) (10010110)2    c) (10001010)2  

b) (100000)2                 d) (100001)2  

 

Section – B 

Q13  If U = { 5, 6, 7, 8, 9, 10, 11, 12},   A = { 7, 8, 9, 10} and B = {5,8, 9, 10,11, 12}. 

         Verify that ( 𝐴 ∪ 𝐵)′ = 𝐴 ′  ∩   𝐵 ′ 

Q14 Given log 2 = 0.3010, find the number of digits in 262 

Q15 If  x = 𝑙𝑜𝑔2𝑎a   , y =  𝑙𝑜𝑔3𝑎2a   ,  z = 𝑙𝑜𝑔4𝑎3a    

        Then prove that      xyz  +  1 = 2yz 

Q16 Simplify :    
 𝟓.𝟐𝟓𝒏+𝟏   −    𝟐𝟓.𝟓𝟐𝒏

 𝟓.𝟓𝟐𝒏+𝟑   −     𝟐𝟓𝒏+𝟏 

Q17 Solve the following equations: 

         3𝑥  +  2𝑦 = 7          and                    3𝑥+2 -  2𝑦−1 = 15 

Q 18 Convert 125.125 into its binary form. 

 

Section – C 

Q19  Find n , if     
𝑎𝑛  +  𝑏𝑛

𝑎𝑛−1 +   𝑏𝑛−1    =   
2𝑎𝑏

𝑎+𝑏
            , a ≠ b                                                      

Q20 In a survey of 25 students, it was found that 15 had taken Mathematics, 12 had taken 

Physics and 11 had taken Chemistry, 5 had taken Mathematics and Chemistry, 9 had taken 

Mathematics and Physics, 4 had taken Physics and Chemistry and 3 had taken all three 

subjects. Find: 

(i) How many students had taken Physics only? 

(ii) How many students had taken Mathematics and Chemistry but not Physics? 

(iii) How many students had taken atleast one of the subjects? 
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